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Key Stage 2
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Sam sells ice-creams.

(2

Ice-cream  Ice-cream and flake

79 pence 95 pence )

How much does the chocolate flake cost?
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Gino picks 70 apples from a tree.
He uses 17 apples to make a pudding,
He gives 22 apples to his gran.

How many apples does he have left?
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Abby, Barry and Cal each have some house
points.

Abby wins 10 more, Barry wins 20 more and Cal
wins 40 more.

Cal now has as much as Barry had to begin with.

Barry now has as much as Abby had to begin
with.

Abby has as much as Barry and Cal had to
begin with put together.

How much did they have to start with in total?
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2of the children in a school are boys.

There are 114 girls in the school.

How many boys are there?
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Richard of York knows 1,000 people.
470 ride horses.

259 build castles.

The rest are farmers.

How many more farmers than castle builders
are there?




